EARAROBREBRT —5 XN—ZXBISH—F

2024528148 (K) 170XH4H

/R S

C1—==[

‘(fﬁ} W ‘I%EH?’JF&] ~ | & 10000 =

[AE%] 17%&:1,200,000 § ~ 237&:480,000 @ . 37&:300,000H  435:180,000 @ . 5 3&:120,000 M

b= B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
<~ Lo~ ) fEAFIIsE : -5-3- - TEEE (IWE)
1:E FoIEA YTV 4 7 4 1.(4_3).9 5-5-3-3 | 40.3 1 (5_147) E?ﬁe‘#ﬂ:l:
RiAVI/RSAY B:XTU JI_ B85
6 Bz 1:44.3 2-2-2-2 | 40.9| - 8 512 | BRA—FR (KH)
2 g | VIE a5 56.0 %) @) | ) Tr=2hEYay
R:hyd—F)LIYI &F:KROOvH ST 7F—L
» 4 4 | BREBXSE 1:44.6 10-11-8-8 | 40.5| — 4 437 | BB (KH)
3 6| Z0OUzY 56.0 (1 3/4) 3 | B BlKE
RiAVAYF—vay gRoE—7 Eillee
- s ImZE : -1-1- - HiEEZ (KH)
N . FICER AP 51 s | e P e
RNy vH—)b B: TS5y TIAT7N—h HEIT7—L
y— - KHEZ : -8-7- - BER (KH)
5 1 YrSUtHRY 4 7 56.OE 1(/4\11;_? 7-8-7-5 | 40.8 [ 528)9 ﬁg%
REVFOVY 8 hIHYIF SIS
'\ )P — 6 SHE 1:44.9 9-9-9-7 |40.8| -— 3 508 | MUEHERZ (KH)
6 4 a4 /HFwIN 56.0 (1 3/4) (-4 |FEREES ()
A :Ghostzapper &:/\NLY Bonne Chance Farm
. R : ~4-6- - WiIEEZ (KH
7 2 SALEFRIL 6 s 1(745;15) 4-4-6-4 | 41.2 7 (4;325) iE{%EI_Q ( )
R:TUA—=Y B:FUVEZNILA RERT 7— L
o= BAIRE 2 -10-11- - HREX (KH)
81111 J—RJO— 4t 4 =0 1.6115).2 11-10-11-11| 40.7 9 (5_077) R
R:FVyvH/Ft+ B:1-RYISYZ— =YV T7—L
R SRR 4 8 | REXT 1:46.0 8-7-9-10 | 41.9| - 11 509 | JETFEER ()W)
9|5|5|17F—Y 56.0 ) 1) |BEEZ
R:FA=TAVNI N B:STFIA #REt /—ZELX
3,7 5 pallt: 3 1:47.5 3-3-3-6 | 44.1 = 10 493 | RBEFRE KH)
1017 10| LB ¥Z0OU— e 56.0 @) o |BEENDZ ()
R:b—trya—sFr H:xoO7 HEARIY b+
° ~ #o9 | THEF 1:48.3  [12-12-12-12{ 43.0| — | 12 | 451 |#LE3h (KH)
11719 E—XTILI VR 56.0 () (- |TE==
RiO—I XA IAA BIYARZANZI— TtEKS
< = 5@ FHFEE 2 -6-5- - TR (KH)
1218112 Vv RATF4VINT— 4 5 s 1.6159).3 5-6-5-8 | 45.8 2 (4+732) Enidilsd
R:RVT#Y BN\VITHYROAFvY 757 R
@ 11— —&@BIEf:I
13—7F— 7.8,10,2,(3,12),11,5,4,6,1,9
20—7F— 7,8,10,2,3,12,5,11,4,1,6,9
33—3+— |7.8,(3,10),12,2,11,6,(4,5),1,9
40— — 7,8,3,2,11,10,4, (6,12) ,5,1,9
@ Ih\R=E
B B 3 310 | | 94K 3-8 1,730M B 3-6 1,240 3EE 3-6-8 8,120M
B B 3 130M4 3-6 510/ (=] 3-6 1,760M 38 3-8-6 40,370M
8 620/ 6-8 2,510M B = 3-8 6,580
6 2509 == 3-8 8,490

ABIC OV TRUTEREERRODDZE. THRIIZEL.




